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» So you remember | was doing the error propagation from S; to

P;.

» Works perfectly:
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> here everything looks fine :)

» But there is something funny going with the super annoying
bin.

» Clearly there the central value of the P, is not the central
value from Ag and Fy.

P2
1600 P2
E Entries 6309691
C Mean -0.7032
1400 RMS 0.6275
r X2/ ndf 2505 / 2006
1200(— po 4129%53
C pl -5104 + 31.2
1000— p2 -6501+41.0
800[—
600[—
400—
200—
o e el
E E 1 2 3



» Started debugging:
» Cross check with Tom, the fit when parametrized in terms of
P give the central value on the cyan line...
» Looks like we are loosing some information about the internal
structure of the pdf.
» Idea: We require for now that F/ € (0,1), how about throwing

3
in also: Ag, < Z(l —F)
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